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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 297 369 414 783
AER1TH 1,036 1,209 1,301 2,510
mAET2TH 1,212 1,104 1,434 2,538
A R ET 2,267 2,389 2,630 5,019
BERT1TH 513 531 597 1,128
B ERT2TH 418 431 489 920
B ERI3TH 322 379 356 735
B ERTATH 518 499 525 1,024
B EBRTSTH 832 930 950 1,880
I ER6TH 366 400 431 831
HiF = HT 528 621 662 1,283
45 KHT 465 540 547 1,087
HHT 995 1,150 1,264 2414
BEHT 60 62 65 127
A K BT 625 754 763 1,517
7 HT 432 456 463 919
RICET 479 524 554 1,078
FORHET 200 216 235 451
RFHT 213 225 251 476
KHET 376 355 407 762
KET1TH 232 268 297 565
XKET3TH 282 336 322 658
XETATH 870 835 1,029 1,864
fit] LLI BT 2,334 2,781 2,906 5,687
JE LT 1,238 1,558 1,665 3,223
EHERISTH 421 553 552 1,105
EHERT4TH 353 425 471 896
EHERSTH 323 372 460 832
EHERI6TH 214 282 258 540
EAERET7TH 159 235 235 470
=Y:i 328 362 412 774
¥ [F HT 1,559 1,489 1,747 3,236
=i ET 492 539 615 1,154
2l 3t BT 477 628 595 1,223
N =15 99 119 127 246
+HEFRT 651 676 730 1,406
L EFHTER 832 755 832 1,587
L HAET 2,090 2,367 2,503 4,870
LFH¥AET1TH 75 125 123 248
LH¥\ET2TH 161 167 192 359
RT3 T H 148 151 174 325




BT 4 HH 5 £ i
LF#ET4TH 161 170 204 374
LHAETS T B 206 277 290 567
I == HT 216 221 251 472
M=rET1TH 523 526 571 1,097
JNSFET2T H 552 555 568 1,123
JO=rET3TH 427 438 415 853
M=rET4T H 1,117 1,148 1,185 2,333
I S5k T 585 614 680 1,294
I=F5di) 238 245 271 516
Jt Bl BT 30 39 40 79
(4] 432 397 396 793
478 = HT 788 931 989 1,920
FHRHET 76 89 99 188
i 2 FF T 366 421 470 891
BEFE1TH 83 104 115 219
BEFE2TH 269 326 335 661
T EHT 128 152 148 300
/N BB BT 3,043 3,200 3,423 6,623
1R T 265 298 324 622
YEF HT 724 752 795 1,547
EXBI1TH 253 251 265 516
=/7 LLHT 238 176 135 311
Hh ek HT 20 21 5 26
T A EHET 10 12 10 22
THHEE1TH 697 696 729 1,425
THHEE2TH 518 591 565 1,156
THHEESTH 734 729 842 1,571
TEHE1TH 197 195 185 380
TEHRI2TH 804 783 898 1,681
TEHRISTH 164 178 184 362
TEHRI4ATH 82 83 96 179
TEHRISTH 236 245 269 514
T HAET 644 703 725 1,428
THET1TH 332 353 361 714
THET2 T H 446 462 476 938
TH¥BISTH 195 204 236 440
THBTATH 145 143 173 316
HTAEHET 21 20 8 28
T 189 188 193 381
#8)11 BT 43 47 55 102
RKIH 301 326 358 684

e K HT 1,718 1,812 1,985 3,797
LS 255 331 322 653
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HEZ HH 5 £ i
XLAT1TH 862 858 1,030 1,888
KELAT2T B 306 346 365 711
X LUAT3T B 151 164 176 340
1 [ BT 50 68 80 148
hHET1TH 333 366 418 784
hHET2TH 450 491 543 1,034
hHEI3TH 451 556 536 1,092
niEld:) 255 254 286 540
th 2 JEHT 232 224 264 488
ch T 128 130 173 303
TR AHT 735 875 883 1,758
DiX /N 866 918 1,062 1,980
75 KR ET 7717 1,012 1,041 2,053
75 2 [N HET 1,649 1,868 2,002 3,870
A 779 781 879 1,660
SFHEAT1TH 521 473 533 1,006
SFHEAT2TH 423 405 473 878
$FHEAI3TH 205 223 227 450
| BT 418 488 507 995
YHET1T B 365 456 487 943
HET3T B 337 374 415 789
RET4T B 120 115 145 260
J\ & T 977 1,107 1,157 2,264
J\HHT 168 224 231 455
+ A ERT 276 339 368 707
AR 2,393 2,567 2,703 5,270
THB1TH 22 25 20 45
T4HB2TH 1,409 1,377 1,397 2,774
T4HBI3TH 184 178 179 357
THHB4TH 371 313 389 702
T4HB5TH 936 703 967 1,670
THBI7TH 326 374 424 798
T4HBISTH 373 417 430 847
THBIOTH 400 477 537 1,014
T4B13TH 296 351 386 737
AR NBHET 1,897 1,724 1,977 3,701
HARRHET 1,276 1,229 1,255 2,484
HEARK/ERET 286 377 399 776
HEARICEHT 159 169 186 355
HARKEHET 139 130 144 274
H ARG HET 204 236 272 508
N ] 441 471 517 988
E ARl 322 366 404 770
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HEZ HH 5 = 5
EHARE)IIET 284 275 304 579
HAREAH 117 131 142 273
FH AR JTHT 91 89 111 200
HEARERHE 662 564 640 1,204
B K R HET 375 412 A11 823
Edsa] 885 917 1,027 1,944
BEFET1TH 757 758 785 1,543
BEFET2TH 590 622 705 1,327
BRFEISTH 337 408 408 816
AIFTET1T B 422 397 449 846
AIFFAT2T B 575 611 675 1,286
AIFTET3T B 589 712 732 1,444
A HT 187 214 207 421
B LHT 203 269 290 559
NEL] 812 843 917 1,760
ERL 701 913 901 1,814
= HHE 1,715 1,968 2,093 4,061
HEXHRET1TH 560 648 673 1,321
HELTIRET2TH 521 626 663 1,289
HLAREISTH 296 393 383 776
P fx T 323 390 419 809
mERI1TH 1,178 1,150 1,317 2,467
mERI2TH 829 961 1,080 2,041
FA T 1,337 1,448 1,624 3,072
= RITET 508 501 545 1,046
= AHT 362 306 361 667
AR#HT 10 9 5 14
=) 486 579 547 1,126
SHA1TH 715 670 840 1,510
S HHET2TH 398 439 475 914
S HAI3TH 859 796 955 1,751
S HAT4TH 790 697 908 1,605
E& T 2 2 0 2
J\BRET1TH 203 275 268 543
J\BRET2T B 252 265 244 509
J\BRBT3TH 241 297 295 592
17:&HT 288 445 427 872
FHEIBRT1 TH 144 173 186 359
FHaEIRT2TH 301 439 470 909
FIaIET3T B 11 26 17 43
ENOER1TH 0 0 0 0
EDER2TH 0 0 0 0
ENDERI3TH 21 21 0 21
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